
Manual # 650811 
 

RTX-59C-CAD 
Dakota Digital RTX Instrument Installation 

For 1959 Cadillac 
 

Your new RTX-59C-CAD kit includes: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

  

 

RTX Display 

Universal Sender 

Pack 

 

Buzzer Installation Manuals 
Switch 

 

Main Harness Control Box 

 

Blackout lens 

(4) #6-32 Short Screws 

Clock Harness 

Y Harness 

(4) #6-32 Long Screws 



Manual # 650811 
 

Installation 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1.  Remove the stock gauge cluster and clock from the dash and save all hardware for 
reassembly. 

2.  Remove and retain the four (4) nuts indicated below to completely remove the OEM bezel. 

 

3.  Remove the OEM bezel from the stock gauge by removing the eight (8) screws indicated below. 



Manual # 650811 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4.  Completely strip the bezel of all remaining components, light guides, and indicator panels. If 
removing the factory gear indication, the provided blackout lens may be used. Peel the protective 
cover off the Blackout Lens and place it over the gear indicator opening with the shiny side facing 
out towards the driver and glue it in place using a black RTV silicone or similar to. Let the silicone 
fully setup and dry before moving on to the next step to prevent damage to the Blackout Lens. 

 

6. Mount the auxiliary gauges to the OEM bezel using the provided #6-32 short screws in the locations 
below. It is advised to use a magnetic screwdriver to line up the side screws. 

5.   Attach the provided clock harness. Remove the two nylon thumb nuts from the clock mounting studs, 

using them to install the factory clock mounting bracket.  

Blackout lens 

(2) Thumb Nuts 

Clock Harness 

(4) #6-32 Short Screws 



Manual # 650811 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

9.  Connect the 36” main cable to the Y harness that is attached to the system. Connect the main cable 
and clock cable to mounted control box location  

36” Main 
Cable 

Buzzer 

72” Clock 
Cable 

8.  Connect the Y harness to the back of the system in the locations shown below. On the top will be the 
buzzer (optional for audio feedback).  

7. Mount the main gauges to the OEM bezel using the provided #6-32 long screws in the locations 
below.  

(4) #6-32 Long Screws 

Y Harness 

Y Harness 



Manual # 650811 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

WARNING: This product can expose you to chemicals including lead, which is known to the State of 

California to cause cancer and birth defects or other reproductive harm. For more information go to 

www.P65Warnings.ca.gov 

 

 

11.  Refer to the main manual and the clock manual for wiring instructions to complete the RTX 
installation. 

10.  The cluster is now ready to re-install into the vehicle using the stock hardware from step #2. 
 

http://www.p65warnings.ca.gov/

